
UPUTSTVO ZA MONTAŽU

Regal EDGE

1/10

2052 mm
403 mm

1
8
2
5

 m
m



x 1

x 18

007333

4x16

x 6

6.3x13

008660

x 12 x 12x 12

011136 011137

7x35

012312

8x30

1018x280x18
STRANICA

x 2

1014x367x18
FRONT

x 1

626x300x18
POD

x 1

238x280x18
POLICA 2

x 2

1018x70x18
MASKA

x 1

626x300x18
PLAFON

1050x262x3
POLEĐINA 1

x 1

1018x280x18
VERTIKALA

x 1

1050x358x3
POLEĐINA 2

x 1

334x280x18
POLICA 1

x 2

x 6

011137

7x35

x 6

011137

7x35

334x280x18

238x280x18

626x300x18

626x300x18

x 54

007323

1.6x20

2/10

x 2

M4x22

x 3

121871

626 mm
303 mm

1
0

5
4

 m
m

šematski
prikaz

0

1

2

3

4

5

6

7

x 3

R

x 16

048431048432

x 16 x 1

x 4

048431

x 4

048431

x 1

x 1

x 2

x 2



3/10

626x300x18

x 2

x 2

011136

012312

8x30

048432

x 4

x 1 x 1 x 2

x 1 1.

1014x367x18

1018x70x18 1018x280x18

1018x280x18

180

007333

4x16

R

x 6 x 3

121871007333

4x16

x 6 x 3

x 2

012312

8x30

x 2

012312

8x30

x 2

011136

x 2

011136

048432

x 4

048432

x 4

x 2

012312

8x30

x 2

011136

626x300x18

1
0
1
8
x2

8
0

x1
8

1
0
1
8
x2

8
0

x1
8

1
0
1
8
x2

8
0

x1
8



4/10

M4x22

x 2 x 1

5.

3.2.

4.

100mm

x 6
6.3x13

007323

1.6x20

1
0
1
4
x
3

6
7
x1

8

1
0
1
8
x7

0
x1

8

1050x262x3

1050x358x3
238x280x18

334x280x18 а

b

007333
4x16

x 6

а

b



314x382x18
STRANICA

x 3

911x310x18
FRONT

x 1

1490x400x18
POD

x 1

314x70x18
MASKA x 1

1490x400x18
PLAFON

1486x346x3
POLEĐINA

x 1

x 1

x 6

011137

7x35

626 mm
303 mm

1
0

5
4

 m
m

x 1

5/10

x 17

007333

4x16

x 4

6.3x13

008660

x 12 x 12x 12

011136 011137

7x35

012312

8x30

x 34

007323

1.6x20

x 2

M4x22

x 2

121871

šematski prikaz

0

1

2

3

x 1x 20

3.5x20

112719

x 2

K

127997

x 1

x 5

50x50x20

x 1

x 1

x 3

x 1

x 6

011137

7x35

K

007333

4x16

x 4 x 2

3.5x20
112719 50x50x20

x 20 x 5

1490x400x18

1490x400x18

911x310x18

314x382x18

314x70x18

x 2

011136

x 2

011136

x 2

012312

8x30

x 2

012312

8x30

121871007333

4x16

x 4 x 2

180



6/10

4.3.

2.1.

3
1
4
x3

8
2
x1

8

911x310x18

1490x400x18

3
1
4
x7

0
x1

8

1490x400x18

1486x346x3

3
1
4
x3

8
2
x1

8

3
1
4
x3

8
2
x1

8

007333
4x16

x 4

а

b M4x22

x 2 x 1

x 4
6.3x13

100mm

007323

1.6x20

b

c

x 3
4x16

x 2
4x16

a

127997

x 1



7/10

x 10

x 10

x 10

011136

011137

7x35

012312

8x30

132x300x18
STRANICA 2

x 1

562x300x18
POD

x 1

1106x300x18
PLAFON

549x337x3
POLEĐINA 1

x 1

x 1

x 1

526x300x18
POLICA

x 1

303 mm

5
2

0
 m

m

šematski
prikaz

0

1

2

3

4

5

6

7

1106 mm

464x300x18
STRANICA 1

x 2

549x148x3
POLEĐINA 2

549x150x3
POLEĐINA 3

x 1

x 16

3.5x20

112719

x 4

50x50x20

x 2

x 2
011136

012312

8x30

x 2

011136

x 2

012312

8x30

x 4

011137

7x35

3.5x20
112719 50x50x20

x 16 x 4

x 2

011136
x 2

012312

8x30

180

562x300x18

464x300x18

132x300x18

x 1

x 2x 1

x 37

007323

1.6x20

x 4

007329

x 2

007329



8/10

3.2.

1.
x 6

011137

7x35

1
3
2
x3

0
0

x1
8

562x300x18

1106x300x18

549x337x3

526x300x18

4
6
4
x3

0
0

x1
8

549x148x3

549x150x3

x 1

1106x300x18

4
6
4
x3

0
0

x1
8

100mm

007323

1.6x20



9/10

x 2

012312

8x30

218 mm

2
2

0
 m

m

1100 mm

x 1

x 1

x 1

1100x220x18
 

1064x200x18
 

POLEĐINA

POLICA

x 3

šematski prikaz
 

0 1 2 3 4 5 6

x 12

007333

4x16

x 3

007336

1.

x 1

1100x220x18

1064x200x18 

1100x220x18

x 2

012312

8x30

007333
4x16

x 3

007336

x 12 x 3

1064x200x18 



10/10

šematski
prikaz

0

1

2

3

4

5

6

7

x 5

6x60

011994

x 34

012054

10mm

x 5

x 2

007345

3.2.

1.

x 2

x 6

x 2

4x16

6x60

x 2

b

a6x60
011994 012054

10mm

x 3 x 3

x 34

x 6

007333

4x16


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

